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Mt

€:E3::) (BT : kg )
SRR ==Y H 2 & Z B fm &
BEERXFE 588 =X 127.0 1,266 109
RXAIH LA 47.4 1,329 350
JUH LA 34.6 855 20
XA LA 28.2 929 339
e 24.9 1,069 50
HFHS 22.2 50 30
JdEHAN 120.5 69 20
TRIRD 39.0 1,300 30
< oS A 26.7 300 50
ESWYXHTZ 37.2 729 250
Y= 37.0 2,170 400
BHE 128 Ry FHA 3,607.9 600 289
astyE 4,152.6




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
EEXRIFE 58 |E=o X 1,122.5 1,350 600
<AL A 32.4 8,000 500
I5 A 38.6 1,500 500
#D 25& E=5 X 477.1 1,400 600
ho 3& <73 85.1 2,000 1,250
ait#E 1,755.7




